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303mo3boYc 63300 Hodol 32 dohoobo 3gmomo k bobgolo 360336gcmmdom 2.05

00Mhogm g mo:
(O float k=2.05f;

(O double k=2,05;
O intk=2.05;
(O double k=2.05;
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303moboEgm 32 dohoobo dmgmo Godol dobogo k Lobyobo 3603369mmdom15,20,40,70,56

20MRB0gm ghmo:
O int k={15,20,40,70,56};

O int k={15.20.40.70.56};
O int ] k={15.20.40.70.56};
O intk[]={15,20,40,70,56};

300630 3

396 30lgbaoyigdgemo
309MobgoMm0dgdyemos 89900930 MomEgbmdnwab 2.00

®o 0gbgodo i-b 36033bg9Md?
inti = (6+2)%(2*3);

00MmRB0gm g mo:
O .33
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6L d9F3L?
public class Sample {
public static void main (String arg|]) {
boolean a = true, b = false;
boolean f =! a&(a*b)|(a&!'b);
System.out.println("'f="" + f);

}

20MRB0gm ghmo:
(O f=false

O false
O f=true
O true
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®oL EodgdoogL?
public class BoolLogic {
public static void main (String arg[]) {
inti=3;
intb = 6;
int ¢ = ((i & b) A (~i | b))&0xO0f;
System.out.printin(“c=" + c);
}}
00MRB0gm ghmo:

O ¢=1100
c=12
c=cC

12

O OO
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®0 0gbgoo a-l 3608369emmdd
byte a = (byte)(7 >> 2);

00Mhogm g mo:
O 3
O 1
O 4
O 2
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®oL Eodg§EO3L dmME3gTPM0 3OHrMEMOad?
public class sample {
public static void main (String arg[]) {
intb =10;
intc=++b * 2;
System.out.printin (“c=" + c+ “ b=" + b);
}}
00Mhogm g mo:
O ¢=22 b=11
c=22 b=10
22 11

105

O O O
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®0 2009809007
class OpBit{
public static void main (String arg[]) {
inta=4,b=2;
al=4;
b>>=1;
System.out.printin (“b=" +b+*“ a=" +a);} }
00Mhogm 9o mo:
O b=1a=1
O a=1b=1
O b=2a=4

O 11
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®mAgmo 3mEol BMo3dgodh(900) oM godmob3g3L 3ma3omohm®mols gzEmal?

1)
int i=0; if(i){System.out.printin("Hello");}

2)
boolean b=true; boolean b2=true; if(b==b2){System.out.printin("So true");}

3)
int i=1; int j=2; if(i==1]|j==2){System.out.printin("OK");}

4)
int i=1; int j=2; if(i==1 &| j==2)System.out.printin("OK");

20MA0Ym ghmo ob ModEybodg 3oLybo:

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=491937&cmid=7838 8/22



4/11/24, 11:57 AM 609wdo 1

300b30 10

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

3mg300 godmEboEgdymos int Godol val 33moEo o 33od3l 3G mamodol 8990930 3Mo:
if(val <4){
System.out.printin( "Test A" );

}

elseif(val <9){
System.out.printin( "Test B" );
}

else System.out.printin( "Test C" );

val 33emo@ob Mo 360836g9emmbdolomgol Eondglwgde Test C?

00Mhogm g mo:
O val<0

val =0
val 00gmagoo [4 , 9) dyommydo

val > =9

O O O O

val 0dgmagdo (0, 4) dgomgdo
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9m(3997em0o 3G mgModol 3mol gbdymgdol 8gpgao Mo bLohy3zo(9de) Eo0dgEYdS?

int val=1;
switch (val) {
case 1:
System.out.print("one");
case 2:
case 3:
System.out.print("three ");
break;
case 4:
System. out.print("four ");
default:
System. out.print("default ");
}
20MRB0gm ghmo:

O one

three, four
06ORIM0O OM 0009300
default

O O OO

one, three
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9mg3nm0o 3OMaMmodol 3:mEo. x-0b Mo 3603369 mdgdINLomzol 0098 Idd dbmemp Test2?
switch (x) {
case 1:
| System.out.println("Testl");
case 2:
case 3:
System.out.println("Test2");
break;
default:

System.out.println("Test3");
}

20Mmh0gm ghmo 0b MH03gbndg dobybo:
() 4

O000
w N O -

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=491937&cmid=7838 11/22



4/11/24, 11:57 AM 609wdo 1

300b30 13
396 3obbaon39d9m0

200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

®ob 00943l IMEgTPM0 3D MgModo?

public class TestDo {
public static void main(String[] args) {

int n = 23;

do{
if (n < 20)
break;

System.out.print(" n=" + n);
} while (--n > 7);

}
20MAB0gm ghmo:
O a. n=23n=22n=21n=20 n=19 ... n=8
O b. n=23 n=22 n=21
(O €. ©dd0MY6goL 3ombgzol 60dbgool MomEYbmdol dobngdo;
O d. n=22n=21n=20 n=19 n=18
(O e. n=23 n=22 n=21n=20
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®ob 009431 IMEgTPMO 3D MgModo?

public class TestWhile {
public static void main(String[] args) {
intn=29;
while (--n > 5) {
if(n<7)
break;
System.out.print(" n=" + n);

}
00Mhogm g mo:
O a. n=9n=8
O b. n=8n=7
(O ¢. n=8n=7n=6
(O d. n=9 n=8 n=7 n=6
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oL Eo09g3O3L AMEgaPmo 3O MaMd3d?

public class sample {
public static void main (String arg[]) {
for (int k=0; k<5; k++)
if (K% 2 ==0)
System.out.print (“ k=" + k);

}

00Mhogm g mo:
O a. k=0k=2 k=4

O b. k=2k=4
Oc 246
O d 2

O €. o00&mYbgdl 3ombgol 60dbgool Momgbmosl dobogdo;
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arrf] 30b0g0 990ag0o dbMMME EOEHOOMND 3NYMO M0EbggonLogob. Mol Vg3EOZL gl 3MMgMmodo:
class fun {
public static void main(String args[]) {

int [] arr = {15,2,30,44,75,8};

int x=0;

for (int z : arr){

X=X<z?7z:X
}

System.out.printin(“x="+x);

}

00MRB0gm ghmo:
O a. o00&mybgdl 3ombgol 60dbgool Momgbmool dobogdo;

O b. ©o00®YbgoL true/false my G™MIJm0dg 9emgdgbho IgmemEgoo;
() €. (©o00Mmybgdl dologol dogdbodomydmo gmgadgbdhol 0bgdul;

O d. o00Mmybgdl dologol ydotmgl amyb Mopbgl;

O e. ©od0Mybgol dobogol Yol gemgdgbhL;
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®o 096900 39900930 3MmEol BgbGmymgool BgwYa0?

public class MyFor {
public static void main(String argv[]{

int i;
int j;
outer:
for (i=1;i <3;i++)
inner:
for(j=1; j<3; j++) {
if(==2)
continue outer;
System.out.printin("Value for i=" + i + " Value for j=" +j);
}
}

}

00MmAB0gm ghmo ob ModEybodg 3oLybo:
(] a. Value for i=3 value for j=1

() b. Value for i=2 value for j=2
() c. Value fori=1 value for j=1

() d. Value for i=2 value for j=1
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O 00093 9go07?

609wdo 1

class Obj {
int x, y;
0bj() {
X = -11;
y = 10;
}
Obj(int x1, int y1) {
X = X1;
y =vyi;
}
}

class Test {

Obj obl = new 0Obj();
Obj ob2 = new 0bj(90, 100);

System.out.println(ob2.x + " "

}

public static void main (String[] args) {

00Mhogm g mo:
O 9010

O 1090

O 10
O 90100
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0 009309007

class Obj {

int x,y;

Obj() {x=-3; y=0;}

Obj(int x1, int y1) {x=x1; y=y1;}
Obj(Obj p) {this(p.x, p.y);}

}

public class Test {

public static void main(String[] args) {
Obj ob1=new Obj();

Obj ob2=new Obj(9,10);

Obj ob3=new Obj(ob2);
System.out.printin(ob2.x+ " " +ob3.y);

}
}

00Mhogm g mo:

O 90
-310

-30
910

O O O
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0 009309007

class Test {

int mu(int x, int y) {return x+y;}

double mu(double x, double y) {return x+y;}
float mu(float x, float y) {return x+y;}

public static void main (String[] args) {
Test obj=new Test();
double a=7.3, b=31;
System.out.print("a+b="+obj.mu(a,b));
System.out.print(" a+b="+obj.mu((int)a,(int)b));
1}
00MmRB0gm g mo:

(O 38.338

O 7.331
O a+b=38.3 a+b=38
O 38383
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0 009309007

public class Use {

static int a=3;

static int b;

static {b=a*4; }

static void meth (int x) {
System.out.printin(" x="+x++);
System.out.printin("b="+b);}
public static void main (String[] args) {
meth(42);

}

}

20MAB0gm ghmo:
O x=12b=42
4212
x=42 b=12
1242

O O O

https://testing.gtu.ge/mod/quiz/attempt.php?attempt=491937&cmid=7838 20/22



4/11/24, 11:57 AM 609wdo 1

300b30 22

396 30Lgbaoyi9dgmo
200M0680M089079tm00 89300930 GHomEgbmdnoab 1.00

0 009309007

class Demo {int a;

static int nam(int x) {return x*x;}
int nam(int x, int y) {return x*y;}

}

public class Test {

public static void main (String[] args){
Demo d=new Demo();

d.a=9;
System.out.print("x*y="+Demo.nam(7));
System.out.printin("x*x="+d.nam(11,10));

}

}

00MmRB0gm g mo:

O 49110

O 11049

O x'y=49 x*x=110
O X'y=110 x*x=49
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